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reg_asym_usr (ppb 1D pull distribution
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reg_asym_usl (ppb) 1D pull distribution
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reg_asym_us_dd (ppb) 1D pull distribution

X2 / ndf 1.314/3

- po 14.46 + 54.19 Mean 0003339 + 0.2866
200 — \ Std Dev 0.5732  0.2027
150 — 0
— 0
100 |— *
— X2 I ndf 6.418e-05/1
50 —
— Constant 1.005 + 0.503
— ]
o— ® Mean  -1.86Ye-13 + 2.966e+01
- sigma 5.963  4.508
50 = °
-100 — \
-150 — L
= | | | | I
0.2
0|||||||||||||||||||||||||||||
-8 -6 -4 2 0 2 4 6 8




RMS (ppm)

100

99

98

97

96

95

94

93

92

reg_asym_us_dd RMS (ppm)

26

27

29




	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10


